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Part 1 Short Conversations (60% )

Directions: You will hear some short conversations. You will be asked to answer 3

questions about each conversation. Choose the best answer to each question.

Questions 1-3 refer to the following conversation.

1.

What does the man say about basketball?
(A) 1t’s his favorite sport to play.

(B) He plays it every weekend.

What can be learned about the woman?
(A)  She likes to play basketball.

(B) She doesn’t like individual sports.

What can be inferred about the man?

(A) He loves competitive sports.

(B) He enjoys individual sports.

Questions 4-6 refer to the following conversation.

4,

What does the man like about Hawaii?
(A) The beaches and the people.

(B) The food and the weather.

What time of year is it in New Zealand?
(A) Winter.

(B) Late summer.

©
(D)

©
D)

©

D)

©
D)

©
D)

The season starts next week.

He is not very good at it.

She plays on a volleyball team.
She doesn’t like to watch sports on TV.

He would like to join the woman’s
volleyball team.

He doesn’t exercise on a regular basis.

The beaches and the weather.

The food and the people.

Early summer.

Spring.

6.

7.

10.

11.

12.

Why does the man talk about Christmas dinner?

It’s hot in New Zealand and you may have
dinner on the beach.

He misses the Christmas time in New
Zealand.

At a train station.

On a train.

It arrives in the city center.

It’s the fastest way.

They agree driving is the best way to travel
for longer distances.

They agree driving is more expensive than
taking a train.

Introducing the latest gadget in the store.

Shopping for electronic products.

The height of the product.
The weight of the gadget.

Its batteries last for six hours.

(A) It’s hot in New Zealand and no one (©)
wants to have Christmas dinner.

(B) He highly recommends having (D)
Christmas dinner on the beach.

Questions 7-9 refer to the following conversation.

Where might the speakers be?

(A) At an airport. ©)

(B) On a plane. (D)

What is NOT a reason why the woman prefers taking a train?

(A) The train fare is lower. ©)

(B) There’s more space. (D)

Which of the following is true?

(A) The woman thinks the most convenient ©)
way is the fastest way.

(B) The man thinks the train is the most (D)
convenient way.

Questions 10-12 refer to the following conversation.

What is the conversation about?

(A) Renewing membership of an electronic ©
shop.

(B) Choosing the right type of warranty. (D)

What is the first thing the woman takes into consideration?

(A) The warranty of the product. (©)

(B) The battery of the gadget. (D)

What is NOT a feature of Macro 24B?

(A) It’s less expensive. (©)

(B) It’s a famous brand. D)
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Questions 13-15 refer to the following conversation.

13. What does the woman say about living in the city?

14.

15.

(A) It’s dull and boring.

(B) It’s convenient and fun.

What do both speakers agree on?

(A) The country is safer than the city.
(B) Having a garden is fun.

What can be inferred from the conversation?

(A) Everything in the country is within
walking distance.

(B) The man is looking forward to living in
the country.

Questions 16-18 refer to the following conversation.

16.

17.

18.

Where might the conversation take place?
(A) On the phone.

(B) At an airline company.

©
D)

©
D)

©

D)

©
D)

It’s too expensive.

It’s noisy and crowded.

The city is exciting.

The country is a nice place for a vacation.

The woman would consider moving to the
country.

Both the city and the country are facing
similar issues of the crime.

At a travel agency.

At the airport.

How many nights in total are the couple going to stay in Canada?

(A) Eight nights.
(B) Four nights

Which of the following is true?

(A) The flight fare is 760 pounds per person,
including all taxes.

(B) Metropolitan is a five-star hotel.

Questions 19-21 refer to the following conversation.

19.

20.

What is the caller’s purpose?
(A) To set up a meeting.

(B) To reschedule the meeting.
How can the caller be contacted?
(A) By his cell phone only.

(B) Through his personal assistant.

©
D)

©

D)

©
D)

©
D)

Three nights.
Two nights.

It costs 140 pounds to stay at Metropolitan
a night, with breakfast.

It costs 30 pounds a day to rent a car.

To cancel the meeting.

To make a complaint.

By email.

By cell phone or office number.

21.

When does the caller need a confirmation?
(A) By 1:30 pm.
(B) By2pm.

Questions 22-24 refer to the following conversation.

22.

23.

24.

What does the man’s company manufacture?
(A) Pet food.

(B) Pet toys.

The woman is probably

(A) a sales representative

(B) a potential customer

Where are the man’s products made?
(A) In a company called DDA.

(B) At a small fun park in Germany.

Questions 25-27 refer to the following conversation.

25.

26.

27.

Where might the conversation take place?
(A) At the radio studio.
(B) At the bus stop.

How does the woman sound?
(A) Well-intentioned.

(B) Bad-tempered.
Which of the following is NOT true?

(A) Orange juice can help one feel energetic.

(B) Turkey can help one feel less stressed.

Questions 28-30 refer to the following conversation.

28.
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What is the conversation about?
(A) An interview about legal issues.

(B) A game show about offbeat jobs.

©
(D)

©
D)

©
D)

©

D)

©

D)

©
D)

©

D)

©
D)

By 3 pm.
By 4 pm.

Plastic animals.

Plastic cookware.

a parent

a teacher

In factories all over the world.

In a factory near Montreal.

In the office.

In a restaurant.

Professional.

Optimistic.

The woman drinks the orange juice in the
end.

The woman is worried about being late for
work.

A report on a judicial case.

A call-in TV show about politics.



29.

30.

Why is Laura Chang invited to the program?

(A) She’s a lawyer who just saved an
innocent person from the prison.

(C) She will be the new hostess for the
program.

(B) She’s a good friend to Chris Meyers.
What is NOT one of the reasons for mistaken identity to happen?

(D) She just spent 25 years in prison.

(A) The witness says the wrong thing
intentionally.

(C) The witness doesn’t remember correctly.

(B) The witness doesn’t see well. (D) The witness mistakes one for another.

Part 2 Short talks (40% )

Directions: You will hear some short talks given by a single speaker. You will be asked to

answer 2-3 questions about each talk. Choose the best answer to each question.

Questions 31-32 refer to the following talk.

31.

32.

What is the talk mainly about?
(A) The shop’s policy on refunds. (C) Deadlines for repair.

(B) The shop’s rules for purchase. (D) Charges for repair.
Which of the following is NOT true?

(A) You must have a receipt. (C) You may return an unwanted item.
(B) Faulty items must be returned straight (D) Damaged items can be repaired for free.
away.

Questions 33-35 refer to the following talk.

33.

34.

35.

The speaker is probably .

(A) atenant (C) a show host

(B) a property agent (D) a property buyer
How much deposit is required?

(A) 795 dollars per month. (C) Six weeks’ rent.

(B) One month’s rent. (D) Six months’ rent.

Which of the following is true?

(A) The rent is due every six weeks. (C) Utility bill is included in the rent.
(B) The deposit is refundable. (D) The landlord will set up the phone.

Questions 36-38 refer to the following talk.

36. What skills does the woman have?
(A) Teaching and flying.
(B) Flying and bird-watching.

©
(D)

Teaching and skydiving.
Skydiving and bird-watching.

37. What do most people do after their first jump out of a plane?

(A) They begin to cry and jump.

(B) They share the news with their friends

immediately.

©
D)

38. What type of training did the woman get for her job?

(A) The training was easy.

(B) The training lasted one year.

Questions 39-41 refer to the following talk.

39. Where is the talk probably taking place?

(A) On aradio show.

(B) In a meeting.

40. Who is listening while the woman speaks?

(A) Members of the barter network.

(B) People who work for the city
government.

41. What is the woman NOT going to discuss?

(A) What bartering is.
(B) How to join the network.

Questions 42-44 refer to the following talk.
42. Who might the speaker be?

(A) A marketing manager.

(B) A consumer representative.

43. What is the talk mainly about?

(A) The right type of advertising that the

company needs.

(B) The budget for advertising that the

company has.
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©
D)

©
D)

©
D)

©
D)

©

D)

©

D)

They are too nervous to say anything.

They tell their friends about it after a few
days.

She had to jump about 1,000 times.
She jumped about 15,000 times.

In a class.

In an interview.

People who work for the barter network.

People who are interested in joining the
network.

How to use the barter network.

Why people like to barter.

A TV commercial producer.

An advertising salesperson.

Increasing the quantity of TV commercials.

Developing new ideas for TV commercials.



44. What does the speaker imply?

(A) They should increase the budget for TV (C) The cost of TV commercials is reasonable
commercials. currently.

(B) The amount of advertising is adequate at (D) They should think of other ways to promote
the moment. their products.

Questions 45-47 refer to the following talk.

45. What is this presentation mainly about?
(A) A magician named Bilbo. (C) The speaker’s favorite novel.

(B) New Zealand’s natural beauty. (D) The speaker’s favorite movie.

46. What does the speaker NOT mention in her presentation?

(A) The popularity of the novel. (C) The height of the main characters.

(B) The ring’s magic qualities. (D) The natural scenery in the movie.
47. What part of the presentation does the speaker talk mostly about?

(A) Examples to support main ideas. (C) The body of the presentation.

(B) The introduction of the presentation. (D) The conclusion of the presentation.

Questions 48-50 refer to the following talk.
48. Where might the talk take place?

(A) At a training course for customer (C) At aplanning meeting for sales brochure.
service.
(B) At anew product presentation. (D) At a press conference.

49. What is the talk mainly about?

(A) To disclose a mistake they made in the  (C) To report the current situation of the
past. company.

(B) To recruit new staff for the company. (D) To demonstrate a new product.

50. Which of the following is true?

(A) After the speaker joined the company, (C) The speaker thinks it’s better for business
business improved quickly. to grow fast.

(B) The company is having a financial crisis (D) The company will not open any new stores
at the moment. in a short time.
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Part 1 Short Conversations (60%)

Directions: You will hear some short conversations. You will be asked to answer 3
questions about each conversation. Choose the best answer to each question.

Questions 1-3 refer to the following conversation.
1. What does the man say about basketball?

(A) " It's his favorite sport to play. (C) The season starts next week.
(B) He plays it every weekend. (D) Heis not very good at it.
2. What can be learned about the woman?
(A)  She likes to play basketball. (C)  she plays on a volleyball team.
(B)  She doesn't like individual sports. (D) she doesn't like to watch sports on TV.

3. What can be inferred about the man?
(A) He loves competitive sports. (C)  He would like to join the woman’s
volleyball team.

(B) He enjoys individual sports. (D) He doesn't exercise on a regular basis.

Questions 4-6 refer to the following conversation.
4. What does the man like about Hawaii?

(A) The beaches and the people. (C) The beaches and the weather.
(B) The food and the weather. (D) The food and the people.
. What time of year is it in New Zealand?
(A) Winter. (C) Early summer.
(B) Late summer. (D) Spring.

6. Why does the man talk about Christmas dinner?

(A) It's hot in New Zealand and no one (C)  It's hot in New Zealand and you may

wants to have Christmas dinner. have dinner on the beach.
(B) He highly recommends having (D) He misses the Christmas time in New
Christmas dinner on the beach. Zealand.

Questions 7-9 refer to the following conversation.
7. Where might the speakers be?
(A)  Atan airport. (C) At a train station.
(B) oOna plane. (D) on a train.



8.

What is NOT a reason why the woman prefers taking a train?

(A) " The train fare is lower. (C)
(B) There’s more space. (D)
9. Which of the following is true?
(A) The woman thinks the most (C)
convenient way is the fastest way.
(B)  The man thinks the train is the most (D)
convenient way.
Questions 10-12 refer to the following conversation.
10. What is the conversation about?
(A) Renewing membership of an (C)
electronic shop.
(B) Choosing the right type of warranty. (D)

11.

12.

It arrives in the city center.

It's the fastest way.

They agree driving is the best way to
travel for longer distances.
They agree driving is more expensive

than taking a train.

Introducing the latest gadget in the
store.

Shopping for electronic products.

What is the first thing the woman takes into consideration?

(A) The warranty of the product. (C)
(B) The battery of the gadget. (D)
What is NOT a feature of Macro 24B?

(A) It's less expensive. (C)
(B) It's a famous brand. (D)

Questions 13-15 refer to the following conversation.

13. What does the woman say about living in the city?

14.

15.

(A) " It's dull and boring. (C)
(B) " It's convenient and fun. (D)
What do both speakers agree on?

(A) The country is safer than the city. (C)

(B)

Having a garden is fun.

What can be inferred from the conversation?

(A)

(B)

Everything in the country is within (C)

walking distance.
(D)

The man is looking forward to living

in the country.

The height of the product.
The weight of the gadget.

Its batteries last for six hours.

It's heavier.

It's too expensive.

It's noisy and crowded.

The city is exciting.
The country is a nice place for a

vacation.

The woman would consider moving to
the country.
Both the city and the country are facing

similar issues of the crime.



Questions 16-18 refer to the following conversation.

16.

17.

18.

Where might the conversation take place?
(A)

(B)

On the phone.

At an airline company.

(C)
(D)

At a travel agency.
At the airport.

How many nights in total are the couple going to stay in Canada?

(A)
(B)

Which of the following is true?
(A)

Eight nights.
Four nights

The flight fare is 760 pounds per
person, including all taxes.

(B)

Metropolitan is a five-star hotel.

Questions 19-21 refer to the following conversation.

19.

20.

21.

What is the caller’s purpose?
(A)

(B)
How can the caller be contacted?
(A)
(B)
When does the caller need a confirmation?
(A) By 1:30 pm.

(B) By 2 pm.

To set up a meeting.

To reschedule the meeting.

By his cell phone only.

Through his personal assistant.

Questions 22-24 refer to the following conversation.

(C)
(D)

22. \What does the man’s company manufacture?

23.

24.

(A)
(B)

The woman is probably
(A)

(B)

Where are the man’s products made?
(A)

(B)

Pet food.
Pet toys.

a sales representative

a potential customer

In a company called DDA.

At a small fun park in Germany.

Three nights.
Two nights.

It costs 140 pounds to stay at
Metropolitan a night, with breakfast.

It costs 30 pounds a day to rent a car.

To cancel the meeting.

To make a complaint.

By email.

By cell phone or office number.

By 3 pm.
By 4 pm.

Plastic animals.

Plastic cookware.

a parent

a teacher

In factories all over the world.

In a factory near Montreal.



Questions 25-27 refer to the following conversation.

25.

26.

27.

Where might the conversation take place?

(A) At the radio studio. (C)  In the office.

(B) At the bus stop. (D) In a restaurant.

How does the woman sound?

(A)  Well-intentioned. (C)  Professional.

(B) Bad-tempered. (D) Optimistic.

Which of the following is NOT true?

(A) Orange juice can help one feel (C)  The woman drinks the orange juice in
energetic. the end.

(B) Turkey can help one feel less (D) " The woman is worried about being late
stressed. for work.

Questions 28-30 refer to the following conversation.

28.

29.

30.

What is the conversation about?

(A)  An interview about legal issues. (C) Areport on a judicial case.

(B) A game show about offbeat jobs. (D) A call-in TV show about politics.

Why is Laura Chang invited to the program?

(A) she’s a lawyer who just saved an (C) She will be the new hostess for the
innocent person from the prison. program.

(B) She'sa good friend to Chris Meyers. (D) she just spent 25 years in prison.

What is NOT one of the reasons for mistaken identity to happen?

(A) The witness says the wrong thing (C) The witness doesn’t remember
intentionally. correctly.

(B) The witness doesn’t see well. (D) The witness mistakes one for another.

Il Short talks (40%)
Directions: You will hear some short talks given by a single speaker. You will be asked
to answer 2-3 questions about each talk. Choose the best answer to each question.

Questions 31-32 refer to the following talk.

31.

32.

What is the talk mainly about?

(A) The shop’s policy on refunds. (C) Deadlines for repair.
(B) The shop’s rules for purchase. (D) Charges for repair.
Which of the following is NOT true?



(A) You must have a receipt. (C)
(B) Faulty items must be returned (D)

straight away.

Questions 33-35 refer to the following talk.
33. The speaker is probably
(A)  atenant (C)
(B) a property agent (D)
34. How much deposit is required?
(A) 795 dollars per month. (C)
(B)  One month’s rent. (D)
35. Which of the following is true?
(A) " The rent is due every six weeks. (C)
(B) The deposit is refundable. (D)

Questions 36-38 refer to the following talk.
36. What skills does the woman have?

You may return an unwanted item.
Damaged items can be repaired for

free.

a show host

a property buyer

Six weeks’ rent.

Six months’ rent.

Utility bill is included in the rent.

The landlord will set up the phone.

Teaching and skydiving.
Skydiving and bird-watching.

They are too nervous to say anything.

(A) Teaching and flying. (C)
(B) Flying and bird-watching. (D)
37. What do most people do after their first jump out of a plane?
(A) They begin to cry and jump. (C)
(B) They share the news with their (D)

friends immediately.

They tell their friends about it after a few

days.

38. What type of training did the woman get for her job?

(A) The training was easy. (C)
(B) The training lasted one year. (D)

Questions 39-41 refer to the following talk.
39. Where is the talk probably taking place?

(A)  On a radio show. (C)

(B) Ina meeting. (D)
40. who is listening while the woman speaks?

(A)  Members of the barter network. (C)

(B) People who work for the city (D)

government.

She had to jump about 1,000 times.
She jumped about 15,000 times.

In a class.

In an interview.

People who work for the barter network.
People who are interested in joining the

network.



41. \What is the woman NOT going to discuss?
(A)  what bartering is. (C)
(B)  How to join the network. (D)

Questions 42-44 refer to the following talk.
42. Who might the speaker be?

(A) A marketing manager. (C)
(B) A consumer representative. (D)
43. What is the talk mainly about?
(A) The right type of advertising that the (C)
company needs.
(B) The budget for advertising that the (D)
company has.
44. \What does the speaker imply?
(A) They should increase the budget for (C)
TV commercials.
(B)  The amount of advertising is (D)

adequate at the moment.

Questions 45-47 refer to the following talk.
45. What is this presentation mainly about?

How to use the barter network.

Why people like to barter.

A TV commercial producer.

An advertising salesperson.

Increasing the quantity of TV
commercials.
Developing new ideas for TV

commercials.

The cost of TV commercials is
reasonable currently.
They should think of other ways to

promote their products.

The speaker’s favorite novel.

The speaker’s favorite movie.

The height of the main characters.

(A) A magician named Bilbo. (C)
(B) New Zealand’s natural beauty. (D)
46. \What does the speaker NOT mention in her presentation?
(A) The popularity of the novel. (C)
(B) The ring’s magic qualities. (D)

47.

(A) Examples to support main ideas. (C)

(B)  The introduction of the presentation. (D)

Questions 48-50 refer to the following talk.
48. Where might the talk take place?

(A) Ata training course for customer (C)
service.

(B) Atanew product presentation. (D)

The natural scenery in the movie.

What part of the presentation does speaker talk mostly about?

The body of the presentation.

The conclusion of the presentation.

At a planning meeting for sales
brochure.

At a press conference.



49. What is the talk mainly about?
(A) To disclose a mistake they made in ©€) 710 report the current situation of the
the past. company.
(B)  To recruit new staff for the company. (D) To demonstrate a new product.
90. Which of the following is true?

(A)  After the speaker joined the €)  The speaker thinks it's better for
company, business improved quickly. business to grow fast.
(B) The company is having a financial (D) The company will not open any new
crisis at the moment. stores in a short time.
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